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Teacher: ___________________________
                                                            CC Algebra
  

Cumulative Review #2.2 

Show work for all questions for full credit 

& write your answers on the lines provided!!! 

(If you feel no work is needed you must explain your reasoning.)
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 ≥  7x + 3, which property is used below?
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3(7x + 3)

                     A.  Distributive Property

                     B.  Multiplication Property of Inequality

                     C.  Subtraction Property of Inequality

                     D.  Associative Property of Multiplication

                                                                                                                                       1. _______________

2.  Which system of equations has no solution?

                       A.  y = 4x – 9 and y + 4x = 3


         B.   y = 2x and 2y = x – 9


          C.  y + x = 0 and y = x


          D.  y = 3x + 7 and y – 3x = −2











2. _______________

3.  Simplify:    (−3x4y5)4










3. _______________

4.  Solve the following system of equations algebraically and check your answer.



5x + y = 15



3x + y = 11











4. _______________

5.  The perimeter of a rectangular garden is 320 yards.  If the length is 8 yards less than 3 times the width, what are the dimensions of the garden?  [Only an algebraic solution will be accepted.]











5. ________________
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